
MATH 108 - QUIZ 3 - I FEBRUARY 2011

Answer all of the following questions in the space provided. Show all work as partial
credit may be given. Answers without justification, even if they are cotrect, will earn no

credit.

(z) where f (,) : {;-:: il; ; 3

[tw ftn) = [i,, (x]-x) : j* -3 < 6/,
F-3- *)3-
[i,n, SC") : [r* (: -x) = s-3 :oy'

X- 3+ r+B#
(b) (2 pts.) Is /(r) given in part (a) continuous at x :3? Why or why not?

No. B$^awsa Ar.* r^e+ apt$,[,* +k)*z
2. Let f (") : 12 - 3x.'

, (") (3 pts.) Write tlown and sirnplily the difference quotient f @ + n)- f (t) 
.

ItrU^t-tA 
= 

(x*h)=*;8*il- 0&2
t^ \^t^

- &,\n+t3€\ _\(ex+\:Qt' ff-Ea-F+t'..J
(b) (2 pts.) Find I'(r) bycomputing ,* /(r + h) - /(z).

trw N) - 1.i* tr+Lr-i : Ar-3//
\,r.Jq t4 6->6
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( 12+1 ifr<31.(u) (3pts.) Findtheone-sidedlimits,!3_/(") u"d"lS*/(r)where f("): { z"+ 4 if r>J.

h* !(r)= [i- (tr+r) = 32+t - to /F€3- r-e3-

Ii* {{x) = li. (zx+.t) = 4.3+'l =lo,/
F+3+ X{3+

(b) (2 pts.) Is /(r) given in part (a) continuous at r :3? Why or why not?

Y*s. Bec..\^\-Q Lo = liryTfx) : $ 3) : tsf+l
x+3

,
2. Let f (*): ;.

(u) (g pts.) Write down and simplify the <lifferencc quotient f @ + h)- f (r) 
.

@= ft-7 r (z -+)
t\ a- = Ll \F+.t^ r/

= -L / 2x-26<+t^)\ : -l tht X(x+h)J I^t
2A-2^-2h\ t[ -zK\ *Z

-.-. 

-t-.].

x (r*r,i) J K\ X(ftrt)/- x(x+ r\Z

(b) (2 pts.) Find f'(r) by computing tnrejFg

$ttn)= [i ,n, lN)- i:. --L =. -z
h+; T 

J:*Y" xfx*t */


